

REFERENCIA BIBLIOGRAFICA



ALUMNA: DIANA CITLALI CRUZ RIOS

MAESTRO: JUAN JOSE OJEDA TRUJILLO

SEXTO SEMESTRE, BACHILLERATO
ENFERMERIA

UNIVERSIDAD DEL SURESTE



Diana Cruz

$$\int x e^x dx = \begin{array}{l} u = x \quad dv = e^x dx \\ du = 1 \quad v = e^x \\ = e^x x - \int e^x dx \\ = \underline{e^x x - e^x + C} = e^x(x-1) + C \end{array}$$

$$\int x^2 \ln x dx$$

$$\begin{array}{l} u = \ln x \quad dv = x^2 \\ du = \frac{1}{x} \quad v = \frac{x^3}{3} \end{array}$$

$$\frac{x^3}{3} \ln x - \int \frac{x^3}{3} \cdot \frac{1}{x} dx$$

$$\frac{x^3}{3} \ln x - \int \frac{x^2}{3} dx$$

$$\frac{x^3}{3} \ln x - \frac{1}{3} \int \frac{x^3}{x} dx$$

$$\frac{x^3}{3} \ln x - \frac{1}{3} \int x^2 dx$$

$$\frac{x^3}{3} \ln x - \frac{1}{3} \frac{x^3}{3} + C$$

$$= \underline{\frac{x^3}{3} \ln x - \frac{x^3}{9} + C}$$

$$\int x^2 e^x dx = \begin{array}{l} u = x^2 \quad dv = e^x dx \\ du = 2x \quad v = e^x \\ = e^x x^2 - 2 \int x e^x dx \end{array}$$

$$\begin{array}{l} u = x \quad dv = e^x \\ du = 1 \quad v = e^x \end{array}$$

$$x^2 e^x - 2x e^x - \int e^x dx$$

$$\underline{x^2 e^x - 2x e^x - e^x + C}$$

$$\int x \sqrt{x-1} dx$$

$$\begin{array}{l} u = x \quad dv = \sqrt{x-1} dx = (x-1)^{1/2} \\ du = 1 \quad v = \frac{(x-1)^{3/2}}{3/2} = \frac{2\sqrt{(x-1)^3}}{3} \end{array}$$

$$= \frac{2}{3} x \sqrt{(x-1)^3} - \frac{2}{3} \int \sqrt{(x-1)^3} dx$$

$$= \frac{2}{3} x \sqrt{(x-1)^3} - \frac{2}{3} \times \frac{2}{5} (x-1)^{5/2} + C$$

$$= \underline{\frac{2}{3} x \sqrt{(x-1)^3} - \frac{4}{15} \sqrt{(x-1)^5} + C}$$

$$\int 2x \cos 2x \, dx$$

$$u = 2x \quad dv = \cos 2x$$

$$du = 2 \quad v = \frac{1}{2} \sin 2x$$

$$2x \cdot \frac{1}{2} \sin 2x - \int \frac{1}{2} \sin 2x \cdot 2$$

$$2x \cdot \frac{1}{2} \sin 2x - \frac{1}{2} \int \sin 2x \cdot 2$$

$$x \sin 2x - \frac{1}{2} \int \sin 4x \, dx$$

$$x \sin 2x - \frac{1}{2} \cdot \frac{1}{4} \cos 4x \, dx$$

$$\left(x \sin 2x - \frac{1}{8} \cos 4x \, dx \right)$$

$$\int x \cos 2x \, dx$$

$$u = x \quad dv = \cos 2x$$

$$du = 1 \quad v = \frac{1}{2} \sin 2x$$

$$x \sin 2x - \frac{1}{2} \int \sin 2x \cdot 1$$

$$x \sin 2x - \frac{1}{2} \cdot \frac{1}{2} \cos 2x$$

$$\left(x \sin 2x + \frac{1}{4} \cos 2x + C \right)$$

$$\int x \sec^2 3x \, dx$$

$$u = x \quad dv = \sec^2 3x$$

$$du = 1 \quad v = \frac{1}{3} \tan 3x$$

$$\frac{x}{3} \tan 3x - \frac{1}{3} \int \tan 3x \, dx$$

$$\frac{1}{3} \frac{1}{3} \ln |\sec 3x| + C$$

$$\left(\frac{x}{3} \tan 3x - \frac{1}{9} \ln |\sec 3x| + C \right)$$

$$\int e^{2x} \csc x \, dx$$

$$u = \csc x \quad dv = e^{2x}$$
$$du = -\csc x \cdot \cot x \quad v = \frac{1}{2} e^{2x}$$

$$\frac{1}{2} e^{2x} \csc x - \frac{1}{2} \int e^{2x} (-\csc x \cdot \cot x) dx$$
$$= \frac{1}{2} \frac{1}{2} e^{2x} \csc x + C$$

$$\left(\frac{1}{2} e^{2x} \csc x - \frac{1}{4} e^{2x} \csc x + C \right)$$

$$\csc x \left(\frac{1}{2} e^{2x} - \frac{1}{4} e^{2x} \right) + C \quad \leftarrow \text{Factorizado}$$

$$\int e^{x/2} \cot x \, dx$$

$$u = \cot x \quad dv = e^{x/2}$$
$$du = -\csc^2(x) \quad v = e^{x/2}$$

$$= \cot x e^{x/2} - \int e^{x/2} (-\csc^2 x)$$

$$= \cot x e^{x/2} + 2 e^{x/2} \cot x + C$$

$$\int x^2 \ln x \, dx$$

$$u = \ln x \quad dv = x^2$$
$$du = \frac{1}{x} \quad v = \frac{x^3}{3}$$

$$= \ln x \frac{x^3}{3} - \int \frac{x^3}{3} \frac{1}{x} dx$$

$$= \ln x \frac{x^3}{3} - \int \frac{x^2}{3} dx$$

$$\frac{1}{3} \ln x \frac{x^3}{3} - \frac{1}{3} \int \frac{x^2}{x} dx$$

$$\frac{x^3}{3} \ln x - \frac{1}{3} \int x^2 dx$$

$$\frac{x^3}{3} \ln x - \frac{1}{3} \frac{x^3}{3}$$

$$\left(\frac{x^3}{3} \ln x - \frac{x^3}{9} + C \right)$$

$$\int x \sec^2 3x \, dx$$

$$\begin{aligned} u &= x & du &= \sec^2 3x \\ du &= 1 & v &= \frac{1}{3} \tan 3x \end{aligned}$$

$$\begin{aligned} \frac{x}{3} \tan 3x - \frac{1}{3} \int \tan 3x \, dx \\ - \frac{1}{3} \frac{1}{3} |\ln |\sec 3x|| + C \end{aligned}$$

$$\left(\frac{x}{3} \tan 3x - \frac{1}{9} |\ln |\sec 3x|| + C \right)$$